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QUESTION 1

Your production database is functional on the SHOST1 host. You are backing up the production database by using
Recovery Manager (RMAN) with the recovery catalog. You want to replicate the production database to anther host,
SHOST2, for testing new applications. After you ensured that the backups of the target database are accessible on the
new host, what must you do to restore and recover the backup for the test environment?

A. Restoring the control file from the backup by using the NOCATALOG option to restore, and recovering the data files

B. Restoring the data files by using the NOCATALOG option and using the SET NEWNAME command to change the
location

C. Restoring the server parameter file from the backup by using the recovery catalog to restore,

D. Restoring the data files from the backup by using the recovery catalog to recover the files, and using the SWITCH
command to change the location.

Correct Answer: A

QUESTION 2

What two are the prerequisites for enabling Flashback Database?
A. The database must be in ARCHIVELOG mode

B. The database must be in MOUNT EXCLUSIVE mode

C. The database must be opened in RESTRICTED mode

D. The database instance must be started in the NOMOUNT state
E. The database instance must have the keep buffer pool defined

Correct Answer:. AB

QUESTION 3

Which two statements are true about a duplicate database that is created by using the DUPLICATE command in
RMAN? (Choose two.)

A. Itis a copy or a subset of the target database.

B. It is opened in RESTRICT mode after a duplicating operation.

C. Itis created by using backups and archived redo log files from the target database.
D. It is created with the same database identifier (DBID) as that of target database.

Correct Answer: AC
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QUESTION 4

Which option must you configure while performing an automated Tablespace Point-in-Time Recovery (TSPITR) by
using Recovery Manager (RMAN)?

A. New channels for restore and recovery tasks

B. New name for the data files of the tablespace

C. Auxiliary name for the data files of the tablespace

D. Auxiliary destinations for an auxiliary set of data files

Correct Answer: D

QUESTION 5

Which statements describe the capabilities of the DBMS_NETWORK_ACL_ADMIN package? (Choose all that apply.)
A. It can be used to allow the access privilege settings for users but not roles.

B. It can be used to allow the access privilege settings for users as well as roles.

C. It can be used to control the time interval for which the access privilege is available to a user.

D. It can be used to selectively restrict the access for each user in a database to different host computers.

E. It can be used to selectively restrict a user\\'s access to different applications in a specific host computer.

Correct Answer: BCD

QUESTION 6

To accomplish user-managed backup for the USERS tablespace, you issued the following command to put

the tablespace in backup mode:

SQL> ALTER TABLESPACE users BEGIN BACKUP;

While copying the file to the backup destination a power outage caused the instance to terminate

abnormally.

Which statement is true about the next database startup and the userstablespace?

A. The database will open, and the tablespace automatically comes out of the backup mode.

B. The database will be mounted, and recovery must be performed on the USERS tablespace.

C. The database will be mounted, and data files in the USERS tablespace must be taken out of the backup mode.

D. The database will not be mounted, and you must restore all the data files for the USERS tablespace from the backup,
and perform recovery.
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Correct Answer: C

QUESTION 7

You need to configure fine-grained access control to external network resources from within your database. You create
an access control list (ACL) using the DBMS_NETWORK_ACL_ADMIN package.

Which statement is true regarding the ACL created?
A. It is a list of remote database links stored in the XML file that are available to the users of the database.

B. It is a list of users and network privileges stored in the XML file according to which a group of users canconnect to
one or more hosts.

C. Itis a list of users and network privileges stored in the data dictionary according to which a group of userscan
connect to one or more hosts.

D. It is the list of the host names or the IP addresses stored in the data dictionary that can connect to yourdatabase
through PL/SQL network utility packages such as UTL_TCP.

Correct Answer: B

QUESTION 8

The DB_BLOCK_CHECKING parameter is set to FALSE.

What level of block checking will be performed?

A. The Oracle database will not perform block checking for any of the data blocks.

B. The Oracle database will perform block checking for the default permanent tablespace only.

C. The Oracle database will perform block checking for the data blocks in all user tablespaces.

D. The Oracle database will perform block checking for the data blocks in the SYSTEM tablespace only.

E. The Oracle database will perform block checking for the data blocks in the SYSTEM and SYSAUX tablespaces.

Correct Answer: D

QUESTION 9
ENCRYPT_TS is an encrypted tablespace that contains tables with data.

Which statement is true regarding the effect of queries and data manipulation language (DML) statements on the
encrypted data in the tables?

A. The data is decrypted during SORT and JOIN operations.

B. The data remains encrypted when it is read into memory.
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C. The data remains encrypted when it is stored in the redo logs.

D. The data remains encrypted in the UNDO tablespace provided that the UNDO tablespace was created with the
encryption option enabled.

Correct Answer: C

QUESTION 10

You execute these RMAN commands:

BACKUP VALIDATE DATABASE; BLOCKRECOVER CORRUPTION LIST;

What will these commands do?

A. create a backup of the database and recover all corrupted blocks found in the backup

B. perform a backup validation and list all logically and physically corrupt blocks in the database

C. perform a backup validation and populate the memory structure used by the vscopy_corruption view with details of
any corrupt blocks found

D. perform a backup validation and populate the memory structure used by the vsDATABASE_BLOCK_CORRUPTION
view, then recover any corrupt blocks

E. create an image copy of the database and recover all corrupted blocks found in the image copy

Correct Answer: D

QUESTION 11

During the installation of Oracle Database 119, you do not set ORACLE_BASE explicitly. You selected the option to
create a database as part of the installation. How would this environment variable setting affect the installation?

A. The installation terminates with an error.

B. The installation proceeds with the default value without warnings and errors.

C. The installation proceeds with the default value but it would not be an OFA-compliant database.

D. The installation proceeds with the default value but a message would be generated in the alert log file.

Correct Answer: D

QUESTION 12

The instance abnormally terminates because of a power outage. Which statement is true about redo log files during
instance recovery?

A. Inactive and current redo log files are required to accomplish recovery
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B. Online and archived redo files are required to accomplish instance recovery
C. All redo log entries after the last checkpoint are applied from redo log files to data files
D. All redo log entries recorded in the current log file until the checkpoint position are applied to data files

Correct Answer: C

QUESTION 13

Identify two correct statements about the Active Session History (ASH) data.

A. A part of SGA memory is used to store ASH data as rolling buffer.

B. The ASH data can be analyzed between any two small time intervals.

C. All ASH data in memory are flushed to disk by MMON in every 3 seconds.

D. All ASH data in memory are flushed to disk by MMNL process whenever the buffer is full.

Correct Answer:. AB

QUESTION 14

User SCOTT wants to back out the transactions on the REGIONS table in his schema. As a DBA, which commands
must you execute to enable SCOTT to flash back the transactions?

A. ALTER DATABASE FLASHBACK ON;

B. GRANT SELECT ANY TRANSACTION TO scott;

C. GRANT EXECUTE ON dbms_flashback TO scott;

D. ALTER DATABASE ADD SUPPLEMENTAL LOG DATA;

E. ALTER TABLESPACE undotsl RETENTION GUARANTEE;

F. ALTER DATABASE ADD SUPPLEMENTAL LOG DATA (PRIMARY KEY) COLUMNS;

Correct Answer: BCDF

QUESTION 15

Which two statements are true about setting the FAST_ START_ MTTR_ TARGET initialization parameter to a nonzero
value?

A. The MTTR advisor will be disabled.
B. Automatic checkpoint tuning will be enabled.

C. The value for the LOG_CHECKPIONT_INTERVAL initialization parameter will be override the value for
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FAST_START_MTTR_TARGET.

D. The time taken to recover the instance after the crash is always exactly the same as the value given for the
FAST_START_MTTR_TARGET initialization parameter.

Correct Answer: BC
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